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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, gzmwm 7

Mid Semester Examination — September 2019

Oozﬁm B. Tech in CIVIL ENGINEERING , Semester: V .
Subject Name: Structural Mechanics- 11 Subject Code: BTCVC 502 Max Marks: 20
Duration: 1 Hour Date: 27* Sep. 2019 Time: 1.30 pm to 2,30 pm -
| Instructions to the Students:
. Assume suitable data wherever necessary and State it clearly.
2. _Figures to ?mE Indicate full Marks. ,
QUESTIONS (Level/CO) | Marks
Attempt the g.aﬁ:w Questions (Any 2 ) 6
1. Differentiate between Determinate & Indeterminate Structures. 4,CO1
2. Explain Eddy's Theorem. 3,C02
vm 3. Define Lack of fit. 1,CO1
m 4. Differentiate between two hinged Stiffening Girder & Three hinged Stiffening Girder. 4,CO2
X 5. What are the Assumptions in truss analysis. 1, QO 1
c .
0.2 | Solve Any ONE of the following. 6
_wmf A two hinged parabolic arch of span 50 m and rise 10 m ow.inw a point load of 100 KN ata | 3,C02:
= distance of 12.5 m from left support. Find the horizontal thrust at each support.
Mw.v Two wheel loads 60 KN and 150 KN, spaced 2 m apart move on a girder of span 16 m. Find |  3,CO2
: " | the maximum uuaacm and negative Shear force at a section 4 m from the left end.
Q. 3 | Solve any ONE of :F. ?zﬁazm 8
_ mﬁ Analyse the s.:% by m?&: Energy gﬁga Take ¢/s area & Modulus of msmsn.a. 4,CO1 . m.w
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A three hinged u&.xuamn. arch ACB of span 24 m Carries 0 UD.L. of 15 KN per metre | 4,CO2

| @

run.on the half 3. the left span as shown in fig. Find the 3»2::5 at the supports and the
bending anaiu. m YN M
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